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Algebra 1 CP Chapter 4 Practice

1. Write the formulas for the following:
2z yl
a) slope w = X ‘
b) slope-intercept form \! b
c) point-slope form \‘I - \'[{ =M <)< )
d) standard form A ><. + B\Il = C

Rz Y‘I..
X, Ya 5
2. Find the slope of the line through the points (- é, 7) and 5 1.
m= 12" Y\
Kg_—Kl
m=1-+ _ =& _ (- F__2 [
>+6 3 2 + |
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3. Write an equation in poini-slope form of the line that passes through (-1, 3) and has a slope of 4.

V-V, = mCx—xD‘
y=3=q(x—1)

]

m

X Y
4. Write an equation in point-slope form of the line that passes through the points (-4,-2) and

(1,-17). _ Yo" _ZlE=t2 _ —-ls _
XaNa MESCTK, T —F S

7’ -—-Y\'—-—WXCK -—xb
N==2=—3(x =)

\}-4-!25-3(&— ")
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Ax+8By =C X, Y

(1
5. Write an equation in standard form of the line that passes through (6 -2) and has a slope m

y—k—Z:Sﬁ}Q

Y -2 = 5K —30
-5 .

x+y+’% —SZC—)

-bx +y=-%)

AXA'B\[ =0 ?
6. Write an equation in standard form of the line that passes through the points (—é l) and (2 )L
—2—1 _
M="7 -3

[y % (x3))

S(y-D=—-3(x+3)
SYy—5= —% —9

+3X Pa

X +5y -9 =

S S
7;X+S¥=—L‘a
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7. Write an equation in slope-intercept form of a line with a slope of —g and a y-intercept of 7.

" b
*:mx+b

y=—%x+¢.

8. Write an equation in slope-intercept form of the graph.

z
=3

Saa emoe

1, : ,

AN 1=—§K+Z
¢ <
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9. Write an equation in point-slope form of the graph.

T m= ‘T_’_r

/
e—(4,3) y-3=F(x-u)

/7 5
I
4 x

oy 3060

10. Sketch the line given by ¥ = —% x+ 3.
m b

M
}u

N

™
N
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Y=mx+b y
11. Write an equation of the line iqelope-intercept formyhat passes through (ﬁ 45 and is parallel to
y=@+7. m—""'l‘ ‘sgﬂ‘:e
Y=—4=—-4(x—2)
V¥ =—"4%x+8
4 —y

Y= —Hx+y

7:: mx+lb

12. Write an equation of the line igSlope- mtercept form Dhat passes through (10,—1 1) and is
=& _ = - T (¢
perpendicular to y @ M= m_l__ 2- 4

Opp. TeC. Siope
7’"\‘“';‘%_&——@
Yy l/= —SX+ 25
WAl — Ul
= —5 x|
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€ fa]lin;r at a rate of 3°F BEhour.)

Slope. == —3

a) Write an equation of the line in slope-intercept form that models this situation.

Y=nx+b

N = —3k+14

b) Determine what the temperature will be b 5 hm QF'I'W L{pm

e et 100 R
14. Jack’s wallet contains $5 bills and $10 bills. The total value in his wallet 1s $60.

Y= -3(5)+u
Y=-15+1H
y=29"F

al

Ax+-B

-_—

a) Write an equation igZlandard jormhat models the possible combinations of $5 bills

and $10 bills in the wallet.

SX + 10y=60

b) Graph the equation.

12

11 wk ?{-lb’:‘ (7210
E SKE@=60 —BX  —5X
8 5X= /
7 AW 5 x___? 'l’fﬁﬁ@_
IS N N 0 o D
: f Hoy =60 Y=-5X+ 6
i 10y=60 =_\L
! 0 10 m=-fz

1 2345678 910 11\1‘2 f \{‘6 Y"!r’.t"\-' G

c) Identify one ordered pair and explain what it means.

(@)~ six $5bills & 3 H10 pills
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